EQAO Review

[image: image1.png]What value of x makes the equation
4x —5=—6x + 15 true?
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[image: image5.png]An equation representing the height of a
burning candle is = 2d — Lr, where

* His the height, in centimetres,

* d is the diameter, in centimetres, and

« ¢is the amount of time that the candle has
been burning, in minutes.

A candle has a diameter of 6 cm.

If the candle burns for 2 minutes, what
will its height be?
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[image: image6.png]A gardener designs a rose bed in the
shape of a right triangle. The ratio of
the two shorter sides is 2:1.
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If the area is 25 square units, what are
the dimensions of the shorter sides?
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[image: image10.png]Some students use 24 large square tiles
to create a dance floor. They arrange the
tiles to make a rectangular area with the
smallest possible perimeter.

‘Which arrangement creates an area with
the smallest possible perimeter?
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1 row of 24 tiles
2 rows of 12 tiles.
3 rows of 8 tiles

4 rows of 6 tiles




[image: image7.png]Paper is sold in different-sized packages.
Which package has the lowest cost per
sheet?
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$1.00 for 150 sheets
$1.20 for 200 sheets
$2.50 for 500 sheets
$5.50 for 1000 sheets.




[image: image8.png]‘Which of the following tables represents a

non-lincar relation?
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[image: image9.png]What is the value = in the diagram below?
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[image: image2.png]‘The total cost to print posters includes a set-up fee plus a charge per poster. The graph below
represents the relationship between C, the total cost, and . the number of posters printed.

Total Cost vs. Number of Posters
c
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Determine the charge per poster.
Show your work.




[image: image3.png]Each of the three points on the grid below.
gives information about the altitude of a
hot air balloon at a certain time.

y Altitude vs. Time.
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If the relationship between altitude and time

is linear, what was the altitude of the
balloon at 4 minutes?

a 1250m
b 1500m
¢ 1750m
d 2000m







[image: image4.png]Terry is painting the shaded area of the rectangular wall shown below.
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‘The average cost of paint is $0.40/m.
Determine the total cost of the paint needed to cover the shaded area of the wall

Show your work.
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